LO: To calculate the scale factor (bronze)

la. Complete the senfence below. Shape
A has been increased by a scale factor

4 Shape A has been enlarged to create

shape B.

of to create shape B.
[ Shape B has a perimeter of 48cm. J
B
A 2em A
A
4cm

2a. Will says he has enlarged his shape
by a scale factor of 2. Shape B is his new
shape.

Jom
A Tem

2cm

Scm
2cm

dcm
Is he comect?

Mot to scale

Ja. Rectangle B has been scaled from
rectangle A. Find the missing length.

Identify which scale factor has been
used.

ﬁjl:-? not to scale P

5 |Sharonis enlarging shapes by a scale

factor of 2 each time. She says that if she
created shape C, one side would have a
length of écm.

A A <
B dcm 2¢m
4cm
lTcm
Do you agree? Explain your answer.
. Z2cm i/e:? . _
h1T¢ Mot fo scale Not to scale R
Complete the sentences. 7
| i | The two trigngles are similar.
| | || Find the length of a.
— D —
— B —
7o
EEEN B .
— £
L[ T[] Lo
Shope B is an enlorgement, by o scole fodor of | of shops A 15 oI
Shope C is an enlargemernt, by o scole fodor of |, of shops A.
Shops D is on enlorgement, by o scale foctor of . of shops A.




LO: To calculate the scale factor (silver)

1 True or false? Shape B has been
increased by a scale factor of 2.5 to
create shape A,

Evelyn says she has enlarged her

shape by a scale factor of 2.5. Shape B is
her new shape.

Tom
A 3cm B
lTcm
Is she comect? Aom
.
Mot to scale
3 Triangle B has been scaled from

friangle A. Find the missing lengths.

&
G

4 Bobby has enlarged shape A to
create shape B. He says if he created
shape C using the same scale factor, one
side would have a length of 8cm.

lem dem
Do you agree? Explain your answer.

E Not to scale ps

.

5 When enlarged, the perimeter of the
shape below increases to 49cm.

Scm

2cm

4
=m B. i
A cam - What scale factor has the shape been
increased by? Explain your answer.
M 10cm .
el Noft fo scale Not to scale
6 7
The two triangles are similar. . These two children’s toys are similar.
Find the area of the smaller trigngle. Fird the length marked v.
30 cm
20 cm
] O+
—
4 24 cm
ared = m?




LO: To calculate the scale factor (gold)

1 True or false? Shape A has been

increased by a scale factor of 2 to create

shape B.

2 Ashton says he has enlarged his
shape by a scale factor of 3.5. Shape B is
his new shape.

Is he comect?

MNot to scale

2.8cm

3 Shape B has been scaled from
shape A. Find the missing lengths.
1.4cm

U'ch. 1.6cm

AL CIm
B. cm
£.6cm

B .

4 |Amanda has enlarged shape A to
create shape B. She says if she created
shape C using the same scale factor, one
side would have a length of 7.2em.

2.4cm 3.6cm
Do you agree? Explain your answer.

MNof to scale p5

5 |One side of this square is 4.2¢m. When

enlarged, the perimeter increases to
42cm.

What scale factor has the shape been
increased by? Explain your answer.

Mot fo scale

MNof to scale B

6

7 The diggram shows three similar trizngles.

The rectangle is enlanged by a scale foctor,

The perimeter of the enlargad
rectangle is &4 m.

Whiat is the saale foctor of
enlargement?

28m

Caoloulate the missing walues,

£3
21 mim d
a
7 c

M
*

-

& rnm 18 mm 27 mmi




